| number of missing inner layers

missing_inner_layers

l= Entries 601
E Mean 0.05491
r Std Dev 0.2278
10_1§_ missing_inner_layers
= Entries 607
r Mean 0.05272
2 Std Dev 0.2235
107 T
E missing_inner_layers
L Entries 687
10—3 L | Mean 0.03785
E Std Dev 0.1908
E . . . I
- missing_inner_layers
-4 Entries 691
10 E Mean 0.03907
r Std Dev 0.1938
10—52_ ...
O1DD§,||||I||||||||||||Iu||||||||||||||||||||||||||||
— H

mean hi

115 2

25 3 35 4 45 5

| number of missing outer layers

missing_outer_layers

1g Entries 601
E Mean 0.6057
r Std Dev 1.33
10_1§_ missing_outer_layers
= Entries 607
r Mean 0.6211
2 Std Dev 1.275
107 T
E missing_outer_layers
L . Entries 687
1073 | . [viEaT—"] 0.6099
E Std Dev 1.266
E . . . I
- missing_outer_layers
-4 Entries 691
10 E Mean 0.6122
= Std Dev 1.27
10—52_ .. .
o107 'TETE FEET1 FRETI FRTTI FETTI FRTTE FEET1 FRUT1 IF 71 PAT
IS
24

SSW_CKTIUMU_RECO

obal
M_V0001_R000000001__Global__CMSSW_mkfit10mu

RECO

DQM_ | _ _
D8M V0001 _R000000001__Global__CMSSW_mkfit10mu_LowptQ_RECO
D

M_V0001_R000000001 _Global

CMSSW_mkfitl0mu_LowptQnoBKW_RECO

40

35

<hits> vs n

30

25

20

15

10

5

10

Ratio

LI 1;

1 2 3
track n

num_simul_pT

Entries 8282
r Mean 0.596
1071 Std Dev 0.2243
E num_simul_pT
N Entries 8282
> Mean 0.596
10°F +{ std Dev 0.2243
F num_simul_pT
3 B Entries 8282
10°F Mean 0.596
E Std Dev 0.2243
B num_simul_pT.
10_4 E Entries 8282
E Mean 0.596
- Std Dev 0.2243
-5
107° -
o 10;@ - L
= r
< [
o N
=
0.95 T + L + > 3
10 1 10 10 10
TP P

10?

Entries
Mean

10

1
o M=
& isp-fi 1
1: ) e
0 30 35 40
track hits

num_reco_pT,

"LStd Dev

Entries 608
Mean 0.375
Std Dev 0.1554
.................. 1

num_reco_pT

Entries 614
Mean 0.3812
0.1599

num_reco_pT,

Entries 694
Mean 0.3816
0.1573

Std Dev

num_reco_pT

Entries 698
Mean 0.3822
Std Dev 0.1584

10°
P,

2
track



	Contents
	Page 1


